Colour work on Honours Building at Laulara R.C. Coll

	Descripition of Item		Loanath	ing at		ara K.	C. Col	iege	•	
1	Applying Exterior grade A	No	(M)	Breath (M)	Height (M)	Quantaty	Total			
	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or cencrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC.		(***)	(IVI)	(IVI)	Quantaty	Total 1710.68	Unit M ²	Rate	Amount (R. 53715.35.
1	(PWD Building , Page no-196, Item-8)									
1)Building Portation - (Length-43.5 m ,Breath-8.5 m) i) Outer ceiling with wall	3	104.00		3.30	1029.60		M ²		
1	Deduction For	3	43.00		5.80	748.20		M ²		
1	Grill & Verh. Gap				1000					
	Window	12	2.40	1.20	Essay 1	-34.56		M ²		
		24	1.00	1.20		-28.80		M ²		
1)Statue Shade Portation - Ground floor (Length-7.4 m ,Breath- 3.3m)	2	21.40	4.00						
1	Celling	1	5.90	2.00		46.50		?		
1	Statue	3	1.80	2.80 1.80		16.52 9.72		M^2 M^2		
1	Deduction For Grill	5	2.40	2.50		-30.00		M ²		
1			2.10	2.50		-30.00		IVI		1
1	Applying decorative cement based paint of approved quality		1.30	1 1 10					/	/
	ofter preparing the surface including scraping the same							-	(/
ľ	horoughly (plastered or concrete surface) as per manufacturer's specification.((iii) Two coats.)						1710.68	M ²	49	83823.32
I.	(PWD Building , Page no-195, Item-15)									
(a) Priming one coat on steel or other metal surface with									/
5	ynthetic oil bound primer of approved quality including						93.36	M ²	29.00	2707.44
	moothening surfaces by sand papering etc.						33.30	IVI	25.00	2707.44
	PWD Building , Page no-200, Item-01) Grill	12	2.40	1.20		24.56		2		
		12	2.40	1.20		34.56		M ²		
1		5	2.40	2.50		30.00		M ²		
1	Sim (Statue)	3	2.40	2.50		30.00		IVI		
a	A) Painting with best quality synthetic enamel paint of pproved make and brand including smoothening surface by and papering etc. including using of approved putty etc. on the urface, if necessary: (PWD Building, Page no-200, Item-02) on steel or other metal surface:						95:36	M ²	77.00	7188.72

Total Rs 147434.832 Add GST@ 18% 26538.2698

Total Rs 173973.102

Add Labour Cess@ 1% 1739.73102

Grand Total Rs Say Rs

Add contigency 3% 5219.19305 180932.026 180932.00

(Rupees one lakh eighty thousand nine hundred thirty two only)

Counter Sign. By

Principal Laulara RC College Puncha, Purulia

Estimated By

Technical Assistant MGNREGA Cell Puncha Development Block Colour work on MP Building at Laulara R.C. College.

1	Descripition of Item	No	Leangth	Breath	Height (M)	Quantaty	Total	Unit	Rate	Amount (Rs)
	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or cencrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EfC.		(M)	(M)	(IVI)	Quantary	1019	M ²	31.4	31996.2
	(PWD Building , Page no-196,Item-8) i)Building Portation - (Length-42.06 m ,Breath-9.9 m)	1	103.92	5.30	3.30	342.94		M ²		
	il)Building Portation - (Length-17.06 m ,Breath-9.9 m)	1	53.92	1.00	3.30	177.94				
	II)outer ceiling with wall	1 1	41.56 16.56	10.00 10.00	3,30	415.60 165.60				
	Deduction For Grill		1.00	2.00		-4.00				
	Verh. Gap	2	2.50	1.80		-76.50		M ²		
	Window	16	1.40	1.40		-31.36		M ²		
	Stair	2	3.30	4.36		28.78				
	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly (plastered or concrete surface) as per manufacturer's specification.((iii) Two coats.) (PWD Building, Page no-195, Item-15)						1019	M ²	49	49930.4
	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.						35.36	M ²	29.00	1025.44
	(PWD Building , Page no-200, Item-01)	2	1.00	2.00		4.00		M ²		
	Grill Window	16	1.40	1.40		31.36		M ²		
	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: (PWD Building, Page no-200, Item-02) (b) On steel or other metal surface:		25,186				35.36	M ²	77.00	2722.77

Total Rs 85674.795

Add GST@ 18% 15421.463

Total Rs 101096.26

Add Labour Cess@ 1% 1010.9626

Add contigency 3% 3032.8878

Grand Total Rs 105140.1:

Say Rs

105140.11

(Rupees one lakh five thousand one hundred fourty only)

Counter Sign. By

Principal Laulara RC College Puncha ,Purulia Estimated By

Technical Assistant MGNREGA Cell Puncha Development Block Colour work on Administrative Building at Laulara R.C. College.

,		No	Leangth (M)	Breath (M)	Height (M)	Quantaty	Total	Unit	Rate	Amount (Rs)
0 01 01	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or cencrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC.		<u> </u>				688.011	M ²	36.4	21603.5
1	(PWD Building , Page no-196,Item-8)									
1	Building Portation - (Length-17.37 m ,Breath-19.81 m)	3	74.36		3.30	736.16		M ²		
		2	11.27	3.10		0.00		M ²		
-		1	11.27	2.10		23.67		M ²		
- 1	Deduction For Grill	30	1.50	1.40		-63.00		M ²		
	door	30	1.50 1.40	2.10		-8.82		M ²		
١.	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly (plastered or concrete surface) as per manufacturer's specification.((iii) Two coats.) (PWD Building, Page no-195,Item-15)						688.011	M ²	49	33712.5
S. Mariante Sandara	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.						71.82	M ²	29.00	2082.7
	(PWD Building , Page no-200, Item-01) Grill	30	1.50	1.40		63.00		M ²		
	Window	3	1.40	2.10		8.82		M ²		
1	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: (PN/D Building, Page no-200, Item-02) (b) On steel or other metal surface:						71.82	M ²	77.00	5530.1

Total Rs

Add GST@ 18% 11327.22

Total Rs 74256.23

Add Labour Cess@ 1% 742.5623/ Add contigency 3% 2227.681 Grand Total Rs 77226.47

Say Rs

77226.00

(Rupees seventy seven thousand two hundred twenty six only)

Counter Sign. By

Principal Laulara RC College Puncha, Purulia

Technical Assistant MGNREGA Cell Puncha Development Block

Estimated By

plaster & Colour work on boundary at Laulara R.C. Colleg

Descripition of Item	_	- Call	uary	at La	ulara	R.C. C	Colle	990	
	No	0	Dieatti					Bc.	
plaster (to wall, floor, ceiling etc.) with sand and cement	+	(M)	(M)	Height (M)	Quantaty	Total	Unit	Rate	
directed and raking out joints including throating, nosing and drip course, scaffolding,/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] (PWD Building, Page no-189, Item-1)						238.952	M ²	151	36081.7
(i) With 1:6 cement mortar (20 mm)	2	85.34		1.4	238.952				
Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly (plantoned on the control of t						/			
						/			
Two costs						255.98	M ²	49	12542.82
(PWD Building , Page no-195, Item-15) i)boundayPortation									
old surface - (Length-65 m .height -2.1 m)	1	65.00		2.10	136.50		M ²		
INEW Surface	1	85.34		1.40	119.48		M		- /
(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including				1.40	115.46				
shouldening surfaces by sand papering etc						128.4	M ²	29.00	3723.6
(PWD Building , Page no-200, Item-01) Grill									
Gate	50	3.00	0.80		120.00		M ²		
	2	3.00	1.40		8.40		M ²		,
(A) Painting with best quality synthetic enamel paint of									/ /
approved make and brand including smoothening surface by sand papering etc. including using of approved putty									/
etc. on the surface, if necessary : (PWD Building , Page no-						128.4			
200,Item-02) (b) On steel or other metal surface :						120.4	M ²	77.00	9886.8
to, or other metal surface :								0	/
Decorating with Caltureral pic Total	= 6	2.23	4,0	7	0-	1	-16		
) ~ '	2.0	3 Q	8023	t= 37 -	Tot	al Rs	20000 82234 97
/// A 5 5 (D) (A)	,	0 , 11							5,2254.57
416 BST@18)	! =	RS 11	202.	26	14442	Add	ST@	18%	14802.295
416 8-51 @ 187 Tol	! = ed	-473	437	. 26	9467	Add C	ST@	18% Total Rs	14802.29 5 07037.2 71
the protocols Tolars Locals	! = ed @	-473 17:=1	437	· 26	144d2 3467 586=24	Add Contig	ess@	18% Total Rs 1%	44802.295 97037.271 970.37271
Add Contigen (Rupees O	! = el el ey &	Ry 11 -473 17:=1	437 437 4322 4322	126 137 14: 03:12 22 74:35	9467 9467 586724 640232	d Labour Co Add contig	ess@ gency Total I	18% Total Rs 1% 3%	14802.295 97037.271 970.37271 2911.1181 100918.76

Counter Sign. By

Principal
Laulara RC College
Puncha, Purulia

Principal

Principal

Principal

Puncha April 121

Punch

Estimated By **Technical Assistant**

MGNREGA Cell Puncha Development Block